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QUESTION 1

Which 2 statements apply to the Derivation section? 

A. Move entry 9 to Composition because this is within the scope of the project. 

B. Delete entry 10 because this is NOT a source product for this project. 

C. Delete entry 11 as this is already correctly shown under Development Skills required. 

D. Move entry 12 to Composition, because this is within the scope of this project. 

E. Add \\'Professional photographer\\'. 

Correct Answer: CD 

 

QUESTION 2

A construction company that is one of ABC Company\\'s key clients has agreed to provide a member of the staff to
review and comment on the `e-learning course\\'. Which stakeholder interest should the member of staff represent, and
why? 

A. Supplier, because this stakeholder provides the expertise required by the project. 

B. Supplier, because this stakeholder is an external supplier. 

C. User, because this stakeholder may train its staff using the `e-learning course\\'. 

D. User, because this stakeholder ensures that the project provides value for money. 

Correct Answer: D 

 

QUESTION 3

During previous projects, stakeholders became confused when using a number of separate project registers. Therefore,
when preparing the risk management approach, the project manager created a risk register template and added it to an
integrated project register. This register is a spreadsheet that includes project assumptions, issues, dependencies, and
now risks, on separate pages. 

Is this appropriate for a risk register, and why? 

A. Yes, because the project registers should be tailored to meet the needs of the organization. 

B. Yes, because risks are often identified as a result of issues being raised. 

C. No, because an integrated project register should include the quality register as well. 

D. No, because assumptions and dependencies are sources of risk. 

Correct Answer: C 
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Reference http://prince2.wiki/Quality_Register_Template 

 

QUESTION 4

The project is now in stage 2. The \\'training venue specifications\\' will not be delivered to schedule and the stage is
forecast to exceed its time tolerance. As a result, the project manager has agreed with the team manager that the
\\'training venue specifications\\' will be delivered in stage 3 instead of stage 2. 

Is this an appropriate action, and why? 

A. Yes, because the project manager should recommend corrective actions required. 

B. Yes, because moving the work enables stage 2 to be delivered within tolerance. 

C. No, because the team manager should inform the project manager by raising an issue. 

D. No, because the stage deviation should be referred to the project board for a decision. 

Correct Answer: D 

Reference https://www.prince2primer.com/project-board-and-project-manager-prince2-controls/ 

 

QUESTION 5

Which of the following is the definition for an off-specification? 

A. An issue the Project Manager needs to resolve or escalate 

B. Something forecast or currently not meeting specification 

C. A proposal for a change to a baseline 

D. A statement of concern 

Correct Answer: B 
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